4.00 2.00 3.60 4

230

Sl L L N B B 40T~ T T T T T T T T T T 10 L N B
1 ‘”‘ﬁ"w"‘rw‘v"w‘%-v‘i"% HH- -+ [ 1 r 1
SORABA N 1 i [ ] L ]
-5 ' . H 1 L i
OB LLG6 g dxaacy 0 SR DR [ ] = E
of 1% o f
e ] [ ] r 1
o = -
2 1 i ] L i
£ |- i [
« 5r 11 [ 1 1 sf B
= ] a ] I |
0r N [ ] L ]
i [ ] 4= -
1 [
0| I P R R S PR RS A ] 2 P B S R S R
0.0 02 04 06 08 1.0 0.5 1.0 1.5 2.0 25 3.0 5 10 15 20 25
phase ¢y H-K V—K
15.0[C " " " " " " -
e e —]
N N
o 14.0—
9 il
ToassE—a i LA v W iR
130 . . . . .
40[C " " " " "
z =
£ 20—
= C
2 ofF—-----.-. T B e A e N R R R R I
5 = A AR el e I Mt A A it A
T
0 20—
8 C ™
o — —
—40C . . . . . . 3
1.0 " " " " " " -
o C 3
2 08— —]
[ .
S = 3
c 06— —
k = 3
= C 3
2 04— -
[0 — —
] C 3
5 02— 4
o — —
0.0 . . . . . - 3
o 100 200 300 400 500 600
time [yr]
,8'87 T T T T T T T T T ] 5)(1013:7 T T T T T 3
r ! o g ] E 3
[ % s i E 3
-861 : D:DD 510.71 7 4x107 E
S ; 1 T 2800 K
— _ L o, - 13E. 3
e SRR L gL 4.00 Lo
£ [ o ]« E 3
< 82 s o 90T 4 2xi0%E < Mass 2.00 Mg
r oo L ] E 3
o E 3
8ok Dﬂﬁ 5 ] 1x10"F E \g(C*O) 8.80
: ] i c/0 2.38
-7.8 . . . . . . . . . 0k . . . . |
74 : : : : : : : : : - : : : : —
r ] 155 E Aup 4 km/s
-72f 5% dove 1 - op 1 f 1.0
: SR 1 £ st [
= 7.0 '8 Ll . 3 E ] class pp
o r ] > C .
£ I ° o ° 1 3 °F =
- -6.8[ 5 " ] § i ]
L o o B -2 | .
, o 2" 1 8 f 1 No wind
661 @ o 7 7 -0 E
[ Ed & ] E E
—6.4 : : : : : : : : : -5k = Period 525. d = 1.437 yr
_34 : : : : : : : : : - - )
r A 5 R ‘ ‘ ‘ : 10r 1] Radius 434. Rg
_sob 8 an 91.02 3 [ 1 logg -0.53
“r ! ! 100 1 o o08F 4 MMy, 0.460
L 0.9 o, . 4 e [ ]
-3.0F ‘o : o ] B 4 [ ]
- r o ‘ 1 S sk ]
5728; o o 1 1 s I 1 Colour mean / min / max / range
— Tr oo ' 1 Kl t g -V 2.09 2.07 2.1 0.04
> [ E . ] g 041 7 V—1) 2.57 246 2.65 0.20
-28 o o2 ® 1 7] - 1 V-K 556 5.36 5.72 0.36
r Q@ oo ' ] 802; ] J—H 0.88 0.85 0.92 0.07
-2.41 s oF ' B T R J—K 1.49 1.44 153 0.10
L o g ' ] [ ] H-K) 0.60 0.58 0.63 0.05
—2.2L . . . . . ] 0.0 b Amsspmsrnin— : . T =
586 589 608 610 590 595 600 605 610
time [yr] time [yr]




gas velocity [km/s]

log density [g/cm?]

(K]

Toos

Note: Time increases downwards. Scales OK for last curve (bottom black)
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